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GprLb : 2% wenfl | [ Qurgs wHuCueamnser : 75
Time Allowed : 2% Hours | [Maximum Marks : 75
afleyenry @ (1) Soweardg eflamas@nsb #flurs oiFsl Ldeurdl o drergr eranuseamen

sflurmsm s Camerereyd. 2FsliLfalld G@mpul@mlulear mns
seamsraniuurerflib o Langwrs Gsfleléseln.
2) feood deg sy ewulamer L HCW rgeusH@Gl LweaTL(ES
Ceuamr(h. UL BIGET cuanreusmE Querdled LwearuBESSeyLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

@oily : Qeaaiflamgsrer ewemy Afleysemeard QaramLg).

Note : This question paper contains three sections.

9fley - I/ SECTION - I
(oHLCuawser : 15) / (Marks : 15)

@Oy : () @udflele 2 dver 15 aflarrasEnrsEo eflenL walldse. 15x1=15
(i) < uys eolulaier Qar@ssliul(Herer wrhm el safle
Waad eflurer ellentews Caibblshss eT(psayb.
Note : (i)  Answer all the 15 questions.
(i) Choose the correct answer from the alternatives given in the brackets.

1. =8 wailga Corenblwuig
(pLbflssT, Glbfssr, <,evgCradlwum, @Jbgc,lu_trr)
Primitive man evolved in :

(Africa, America, Australia, India)
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Spésam_eubmer ergl Lmsiefluraird o am_r@n Comii ?
(tpevardamiifee, Weudlpriisey, @ rargearaf, Quflubemo)

Pick out the bacterial disease :
(Meningitis, Rabies, Tetanus, Small Pox)

Bfle) carmencugs ellwsomu <iwssib Curs @sar afurs @ Brégef
58&mg.

(Qavesgimer, GavengQee, ewaCrreud, apeerCauir)

If a water-soaked seed is pressed, a small drop of water comes out through :
(stomata, lenticel, micropyle, radicle)

STEUTHISGEND nFddler Lieuwfl

(bevrs 5Lg8I50, 2 anemelss Sl 5550, =iflCearm SUEDFE HL 555D,
A DDNE HL_5FI50 )

The xylem in the plants are responsible for :

(transport of water, transport of food, transport of amino acids, transport of oxygen)

EMULUSSBRISLD eTaTmenp&sssiLhieug)
(mamiy Crrariuer, sfl, QUi Crrelwib, Fsi)

What is called as ‘black gold’ ?
(hydrocarbons, coal, petroleum, ether)

Benrs sarluramss Qasrav_ seys Bi$s senrsd <u@h. sTiLemeanL
FD UM & SOILILTGTSS QST HFea S4B LD.
(Biss sersd, Bl sarsa)

Solution that contains water as the solvent is called aqueous solution. If carbon
disulphide is a solvent in a given solution, then the solution is called

(aqueous solution, non-aqueous solution)
<138 sflewsdler edallsi o drerg. sulfe o drar oideid
(&g s fled, Lriirfé i)

Vinegar is present in acetic acid. Curd contains
(Lactic acid, Tartaric acid)



10.

11.

12.

13.
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srgeillalBhg o Carswreag orusrorasrsl G9AsAsE&sLLGEDS.
s@ileflwinreng Lrsmev igelmbg UNSEsHEsLLGEDS. @)

Tl DHMLP&SLILI(HEI DG

(gTgl, SMDLD)

Ore is used for the extraction of metals profltably Bauxite is used to extract aluminium,

it can be termed as _
(ore, mineral)

ebs 2 CGersd LTsrasgiean CTbsraibd 2isHE QIes saamey erenml GlLwf.
upGPsmer L ILsHEL Lwearl(d @ressoamay

(Ag-Sn @Qrsss@amal, Cu-Sn @Qrsssaenal)

Any metal mixed with mercury is called amalgam. The amalgam used for dental filling

is
(Ag -Sn amalgam Cu-Sn amalgam)

BsCgafen eumiiunr® CHy; Sisenend Qs b 1055 CHy rsGsen. @)g
@rerig D@ peTer Glumrgleuren Goumim(

(CHZ/CZHQ)

Formula of methane is CH, and its succeeding member ethane is expressed in C,Hj.

The common difference of succession between them is :
(CH,/C,H,)

2 uilflg Qsmpem L 2adl wmbgIsmers Gaflré Gaiyb @eflfl Qgsmfldm L
SIMLOLIL|SET
(@bedluiid, enbL_Feger, &LDG;LDFFG{SﬂLLIIT &CGarmifleo)

The freezing of biotechnology products like vaccines require freezing
systems.
(helium, nitrogen, ammonia, chlorine)

Ceomeurl_ et erevmiigy & DJVEG GLD.
(Blemem(pss Ceaumur®, Werdlmer, WenatmHne, lemenm L 1b)
Kilowatt-hour is the unit of

(potential difference, electric power, electﬂc energy, charge)

Qupmss sSMLsss saflliogdHer em erewr .
(82 el iflaid, 82 g6l & @enmey, auaTLINIGESELILL clleend, GeDHs 92)

The atomic number of natural radioactive element is
(greater than 82, lesser than 82, not defined, at least 92)

[ Slgpliys / Turn over
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14. a6 sbds s@Carr® Aariiymiw srpslurub oryb Curlseembd
SFaphle Wenallwse e o (heaurgb Hemey .
(Blenarbss gnem o, WenGarmiLib o (heaursd, Wenaripss 2 (HEUTSED,
BlenCermi_iib wrHpliLHseD)

The amount of induced emf when the magnetic field linked with the coil changes is

(magnetic induction, current produced, E.M.F. produced, changing current)

15. gnrlurieney @Geperw sNQsw vwerU(REma).
(GellClwvens, GPlcwans, Gy, Gellap)

The defect hypermetropia can be corrected by using a

(convex lens, concave lens, concave mirror, convex mirror)

91fley - II / SECTION - II
(pgLiQuemTaser : 40) / (Marks : 40)

@oily :  agGsebd Bmusl daréseErss o waldsab. 20x2=40

Note ; Answer any twenty questions.

16. @Cr wvrifure @rieLwrsda GCrrCwrGsrp 2l wlife) b
ppflospsaisar. ECp @AUIL Lmasmer 5655 aurisms QararQ
P UUhSsis.

(=1) @Cr wrdflwrer @QrievL wirser

(Qupeswrear Qrie wisdr |/ sas@alssiiu L Qi e wirser)
(=) @Cr wréflwrer Qrl e wirser

(Caugiur@sener sramiu@eur /| @Cr wrdflwrer siemwlienu

2 _ehL_ILIGUTSHET)

Identical twins are syngenic with similar chromosomal contents. Natural clones are
those who possess identical chromosomes. Fill up with the suitable word given in the
brackets.

(a) Identical twins are
(natural clones/induced clones)
(b) Identical twins are )
(dissimilar to each other/similar to each other)



17.

18.

19.

sellgrey&E ensrrang gafl. selgrelid B eranen GCaerellser Casl () QBGHT
2_crenensd 2 Ml Glaeumis ?
()

Kavitha is suffering from common cold. What are the questions you will put forth to
Kavitha to confirm the disease ?

EC Qar@ssiiul(herer UL Sdlenar cuenyhg egrmi(h &ruduller A womib B
urskigener s Gluwifleb.

Copy the diagram given below and write the names of A and B in the parts of
thyroid gland.

EpssaTL saphmisET aunrs @@Lber sflurear spdlener er(psaid.

(1) e -UT Qedvser @enselleaner 2 HuSH Ceuidleamer. S LT Cgdser
GepsCarsrener 2 HLSSH Celidlemme.

(<) SUWTLSD (PLenLseneTu|bd, e Grregamanynd 2 nussl Ceuidng..

Correct the statements if they are wrong.

(@) Alpha cells produce insulin and beta cells produce glucagon.
(b) Ovary produces eggs and androgen.

3030
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20.

215

6

&G Wer@ssuul@erer walls eperuded Geamaumbd GQswLDseTsH
SLOULBSEID LGHsmar (=) LHMID () eTeny GHEsaLD.

(=) pisige 2 a@mmb LGS
(=) urireneu 2_aor(HD LGS

This diagram is of human brain, and the functions given below are to be marked as
(a) and (b).

(a) Seat of smell

(b)  Seat of vision

gal_(Hé el &l Sjemangg wafsaladlmhgid o (Hardpg).
saflureng). @@ wefler @eaemung Lo Gos @amesamends Gamam Gl L
GheLulelmHE 2 (heurdmg).

Composite fruit is formed by all the flowers of ; fruit is developed
from a single flower with multicarpellary apocarpous superior ovary.
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23.

24,

7

LTl s CeTGdlenuis sl mibg eTpsis.

(<31) Lmevolblen, eumebyen, (peremibuiemdl, (pwed, Ceereumey

(=) wrene, LaTdl, GHlenT, HUPMS, GTHIE

(@) =peimgCaomly, LOmed, Lig, GT(HENLD, &L LD

(/) B, Lever, (pgene, ks, Ljed

3030

One of the following groups contains non-mammalian animal. Pick up the group :

(a) dolphin, walrus, porcupine, rabbit, bat
(b) elephant, pig, horse, donkey, monkey
(c) antelope, deer, cow, buffalo, blackbuck
(

d) dog, cat, crocodile, lion, tiger

@hme@wuler gt ufe seaorhs.
Sk : Liebem S&(haer

GeueTeume :

Based on relationship, fill up :

Whale : Baleen plates
Bat

CamgLeuperpll LTs5H Cews.

Gerrevom : cenuGflCarmEmenr Qrsss HAeulivay : ysfmman ar(H&8E

Gedlng.
@Qrés GleudtenariLgn) :
Fill in the blanks :

Plasma : Fibrinogen, RBC : Carriage of oxygen
WBC

[ Hpliys / Turn over
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25. 50 Cam@&ssUUl 4BEED UL sms selalss.
{

(=1) uLb A wHMID B & srenTiL(Hb Guissmsmearsd GHUGHs.

(<=4) eTeueumm) @) 616 11 & & Bl & 6T Qg miLme & ey bl &) @) e ev & 6ifl 6T
Qussnisaial@mbg Ceoumubhlennen?

Observe the diagram :

(a) Mention the type of movements shown in figure A and B.

(b) How does the movement differ from the movement of mimosa ?

26. Spssa 2 awmeyd Fmdldlenils Ligsg sNGgg iGN
<, Hwed GrSLrs wrHms.
weufl — Gmedl — sbuefluLEs — LmBS

Study the food chain below, correct it and convert into a pyramid of energy.
Mulberry — Sparrow — Caterpillar — Kite



27,

28,

30.

31.

QurmpbsTsans HéEs.
(21) 2 Wil eysanTed, LIFms - eswm, 2 uifl mair, QUL Crredlwib.

() sreorT, eLcumi@, Qerhdris, F5Cud)

Odd man out :
(a) bio alcohol, green diesel, bio ethers, petroleum

(b) cholera, typhoid, scabies, dysentery

Spoul Gup @uiers euerd cratLg QDS eueTd. @samar wefls misTefler
Calggamgeil. s Cousors Qupeas Hapelammd wrhmeorb.

Cuopsare. gphaml Lig$El. SUDTETST jag sflwrersm LS 2 md
Clels. geuprs Qmbsrad eflurear spdaars smns.

A non renewable resource is a natural resource if it is replaced by natural process at a
rate comparable or faster than its rate of consumption by humans.

Read this statement and confirm whether it is correct or incorrect. If it is incorrect give
the correct statement.

phpeme  GCslEs 2 s aib  FTsaTRISMmET Essarrain bl el bl
Caib0lsHsseLb.

(@aflmpid LOUs6r, Ty Wer oL, &Mw B GCLpM, Ber Bir &G,
L a6 elleTs@ser, Wleneram) Loler SienL )

Pick out the suitable appliances to conserve the electric energy.

(Florescent bulbs, copper choke, solar water heater, electric water heater, tungsten
bulbs, electronic choke)

2 GTEDIOE SE@IFN®, FalDiod sefFallelmhg CeumLBss!s.

Distinguish between true solution and colloidal solution.

20 &l gemowiad 2 Liau 50 8 Bl smrsdmnsrd ssmrsd Qsdelen 55615
Blepnenis sarsdl[Hs.

Find the concentration of solution in terms of weight percent if 20 gm of common salt
is dissolved in 50 gm of water.

3030
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32.

33.

34.

35.

10

manl_yailarn sanblen 1 8., o salnaiar < Hon 16 4 aaflld Bflen
epe&anm Hlepmenis saursdl([Hs. _

Calculate the gram molecular mass of water from the values of gram atomic mass of
hydrogen and of oxygen.

Gram atomic mass of hydrogen=1 g
Gram atomic mass of oxygen=16 g

panE Qsflbs Ao Qurmersafer pH wHiy &G Qer@asiu’_(Hererg).

Clummer PH iy
Qr&sLd 7.4
ganowedr Gamr 8.2
eSletl i 25
L 2 uGuirs 2bCuwreiwm 12

Car@ésiniL 'L aumemew Lrmibg), Spésa elamés@sss el
2.

(21) erhgl CurmeTser jfled Fememd 2 @ Wiemal ?

(=) erbgls QUT(HETEET SIS ST 2 ML Lana ?

The pH values of certain familiar substances are given below :

Substance pH value
Blood 7.4
Baking soda 8.2
Vinegar 2.5
Household ammonia 12

Analyse the data in the table and answer the following questions :
(a) Which substances are acidic in nature ?
(b) Which substances are basic in nature ?

Q@Y yaflow srdly so..Cul smrsdlaidr massh Curs SridlyaGui
gen Bl wrmdng? 2 61 ufausaTar efeTésn Srey.

Why does the colour of copper sulphate change when an iron nail is kept in it ? Justify
your answer.

Si@flaflugdlar Lwensar ey mens samis
Write any two uses of aluminium.
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s fiaiu o Caorss someaser, eaurariduiler UTsmgT SwrilésU
LWTUHES@TDET. HSDETET ETTERTBIGE6TS FaDHeD.

To design the body of the aircraft, aluminium alloys are used. Give your reasons.

e sriuayei i LnCalmmientd 6liqeUMmisEheT QEDTEGL. NS &g s
SENENOESHTET STTTHMSS Fnhls.

Diamond is the hardest allotrope of carbon. Give reason for its hardness.

CamglL @ mseaner Hlrls :

(=) efleng = Hleom X (PHESLD erafled 2 B B

(<=1) Slyeu ewamL_rmes Tra6ls g LwearLhEng erefle MRI UL LD

DigSseied LiwemBHEDSI.

Fill in the blanks :

()

Force =mass X acceleration, then momentum =

(b) Liquid hydrogen is for rocket, then for MRI.

QLepafs Hmius doewer @ dluldlgid, aueehspls Smpuns Spamaen
@bllgid GHuE@es wrL.

As a matter of convention, an anticlockwise moment is taken as and a

clockwise moment is taken as

Camgl L @Lmisamer HlyliLs :

(<21) Wenan(pss Coumuir® : Geumedl LSLL T eTedtled

O erGerm_L_LD :

(=) Bidler Hleneowid : FLETT 2D eTafled

Gl e :

Fill in the blanks :

(@)

(b)

Potential difference : Voltmeter
then current :
Hydro Power Plant : Conventional source of energy

then solar energy :

[ lmliys / Turn over
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41.

42.

43.

12

EDEETEND Fmhmisaier SeumEer Tgla|b @mbsre shblgiis.

(1) Elpps 2HDD o g @f SiaE Hlonses Gopps Sere) Came
Q&S Fnlguigl.

() 2 UCUTHEES Falgw euigelled 2 dter yDmene Wam(Hb WearT(Hib BILD
L& (HSSeTLD.

Correct the mistakes, if any in the following statements :

(a) A good source of energy would be one which would do small amount of work
per unit volume of mass.

(b) Any source of energy we use to do work is consumed and can be used again.

e 2 (pdl 2 Caorss samallred ar s Eh. @& oHs
OIS 6w eI ULD 2 (HEGHlaaeiu|bd CsTarL gl
Fuse wire is made up of an alloy of which has high resistance and

melting point.

L

Gemeumd s euanruL b GWlwmgude Gibub Corammeimss &l&ELD.

€ \\FEP
B,

N

(1) SFaarer seuapd sar(®, Fflwurer s cuaFLIL LD GUaFIeLD.
(=) 2.ann HHEssHnsTan NaTéSHD STab.

The ray diagram shown below is introduced to show how a concave mirror forms an
image of an object :

O
N

N
(a) Identify the mistake and draw the correct ray diagram.

(b) Write the justifications for your corrections.
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44. Guregeursgs s GUur () elerésasafla Bimellend® cursaiisamer
Bpisst LLETURSSILHUSE STFETD BiFem _ . S Herib.

In traffic signals colour light is used to stop vehicles because it is having
wave length.

45. Qameumbd aursSlugder Aevpadt ergieyb G mLier S(mEFe|Lb.
(1) 8TBSL Lo erear L (b OsrarL ojeray.
() srpgelmss Car@ser sbss Gsapamandsd Qsr i alL_panarude
(P 1q-ULD.

Correct the mistakes, if any in the following statements :
(@) Magnetic field is a quantity that has magnitude only.
(b)  The magnetic field lines emerge from the south pole and merge at the north pole.

Afley - IIT / SECTION - IIT
(oSluueamrser : 20) / (Marks : 20)

GBILY : () gaGaurm LEHWSHHSID om efar cigd Brem@ oflenTés@ndsE
edlenL_weflsgse, . 4x5=20
(i) geuCeurm ellammelH@b gb& LHUGLETSET.
(i) Coemeuwren @Lrsefler LLD auamrs.
Note : ()  Answer any four questions by choosing one question from each part.

(i) Each question carries five marks,
(i) Draw diagram wherever necessary.

LU@&S - 1/ PART -1
46. weflgl uflawrod sLbs 15 Wowear o ar@saf GNUEGL 55685
LOTDDEIGEDETS CSTERTLHTH 2 6TeTg).
(1) wells GosHlar CeucuCGouy (<d walger wae s0&Te Wallgea )
cauer&dl LflewTogens w@TH FTibg PDLILDGSIS.
() Yrouste Gossdr erlCurg Careamdlear ?
(8) rovusre Capmiell Gadr curpey GHSS eT(psis.

Human evolution has a record of changes for the past 15 million years.

(a) Name the different species of mankind in chronological order from primitive to
modern man.

(b) When were the primitive caves developed ?
(¢) Narrate the life led by early man like hominids.

[ Spliys / Turn over
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47,

48.

49.

50.

14

2 msar Li@gHuder wCaflwur uredl o drarg.

(<=1) Qaweas s HUUGSES 2 Bisdar LgHuler 2 i SWEIRTSEREE 565S
A COTEFMET GULDEIGS.

(<) wCaflurelien sflwrer Crmi HGdulameans CoTHASHES 6T (5s.
(@afli, pE&SL WwHmD sHmsTLFsD, Cud)

There is a widespread outbreak of malaria in your area :

(a) Suggest some controlling measures to the local authorities concerned.

(b) Pick out the right symptom for malaria.
(chill and shiver, and a rise in temperature, diarrohoea)

L@ - 1/ PART - II

&G srarmsale oL Cumb urdas QumEs wepuided FEHUGD
Qe Blapesamar 6r(LpsIs.

(=1) s Hlspea; LHNIL SeuDdler umasmer efleuflss.

(=) igaflen perenio Senwaamen 6r(ps)s.

Write the two events involved in the sexual reproduction of flowering plants :

(a) Discuss the first event and write the types.
(b) Give advantages and disadvantages of that event.

2 BGEEmLIL UGG §Ts s Hlur_qeamed wéser auSyndnriser.
aarGes  BigslQUuUriymeard gsailiss erarQaarar Wansmars
S WIT(EHET&HeT?

In your area there is scarcity of water and due to this people are affected. So, what are
the measures to be taken by you to meet out the scarcity of water ?

Lu@gl - 11/ PART - III
Spssacunne Cuordsefa crarailsmamus saradayb.
(1) 3.0115% 102 ygmissmensd QaramL STlyD

(=4) 27.95 & @\ (midLy
(8) 1.51x10% epasammsmans Qsream.. CO,

Calculate the number of moles in :
(a) 3.0115x10% atoms of copper.
(b) 27.95 g of iron.

() 1.51x%10% molecules of CO..



51.

52.
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et eupeuareupdler Qurg Quuwir wpmitb TUPAC Quuiiseer T (LPSIS.

(1) CH;CH,CHO (<=,) CH,COCH,

(®)) CH,3 ~CH-CHj () CH;COOH
OH

(2.) HCHO

Write the common name and IUPAC name of the following :

(d) CH,CH,CHO (b) CHRCOCH,

() CHj; —(IZH—CH3 (d) CH,;COOH
OH

() HCHO

U@d - IV / PART - IV

(=) Pyl L afler upgsed Quiss 94 eflensulen LismenL ellerg@dEng).
Qsempeon Hluruiiu@sss.

K
(=) 10 m/s Sm/s— <« 12m/s

4m/s
(19— —(orgforg) (09— o)

10 &l.48., 20 8.48. Aepuyerer Qurglser wanCu 10 ms~1, 5 ms—1,
Caiggdlad HsdauamsiuLb s HEps. sioal gemiLen gam Gordlé
Garardlarmer. Cuorgeler Gurg 2iemeu CAgri®é Careresb Cryw
2 danrgsear. Corg@is@gllea <mes wanCu 12 ms—!, 4 ms—1,
Ceusgdler Geadlammen crafled Fy, F, Qeunenns sreirs.

(@) Newton's first law of motion gives a qualitative definition of force. Justify.

(b) L B
10 m/s 5m/s— <« 12m/s

The figure represents two bodies of masses 10 kg and 20 kg and moving with an
initial velocity of 10 ms~! and 5 ms ~1, respectively. They are colliding with each
other. After collision, they are moving with velocities 12 ms~1, 4 ms~1,
respectively. The time of collision is 2 5. Then calculate F, and F,.

[ pliLis / Turn over
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53.

16

£Q&%WLLNE®&@WQLL@@M)@ﬁﬁamm.
(1) uBsST

(<) efl@sgT

(@) War sFlT

() eflegCamentid

(2.) Senswrpnsd Camewrd
(2er) aS(HGamERTLD

Label the following in the diagram given below :
(a) Incident ray

(b) Refracted ray

() Emergent ray

(d) Angle of refraction

(e) Angle of deviation

(f)  Angle of emergence

-00o0-



